SRTTERE 9AH TEFTER RN
[ ® 2] T = THREEZI
PTAF A& (FHH)
1 B
2 HASL X (SHFRAIR ) 1~6% 1455
BR-AEAED 2 1505
2 A
££A8 1:24F 1455 |3~6% 1545
BER-KREAED SRR 1505 |/SR 1555
3 X BB H RS- B R
REEE 1~6% 14:35
SR-AREAEQ SRR 1445
4 K
BB FRITE 615 1~4% 1455 |5:6% 1545
J—AFATT— JAVS 1505  |/3R 15:55
5 x
Fhm b ) —5 —ER 1.2 1455 |3~6%F 1545
SRR 1505 |/NR 1555
6 S
7 T
8 B
1-3% 1455 |2:4~6% 1545
AR 1505 15:55
9 A
BB FITEMR 124 1455 |3~6%F 1545
2w b — 5 — R SRR 1505 |/NR 1555
10 X
EBHRFIT-RE 1~6% 14:35
NRZR 1445
11 7K
EHRFRITEH O 1~4% 1455 |5:6%& 1545
J=ATATT— SR 1505 [/AR 1555
12 x
EHLERAE~65F) 1~3% 1335 [|4~6% 1545
S 1345 SR 1555
13| 2
MEXEFHR 1~4% 1545 |5-6% 1615
RZ 1550 [/AR 1620
19| x
MEREH= (FEH)
15 B
wmEOH
16 | A




BER AT 1-25 1455 |3~6%F 1545
BRIIRRE BAA SEHME AR 1505 /AR 1555
17 X | EHEE) —F — KR
e 1~6% 14:35
W EFAER AV 14:45
18 K
FEREE 1~4% 1455 |5:6% 1545
J—AFATT— INR 1505  |/3R 15:55
19 x
EFgiREARE
20 &
21 de
22 B
[ 0)=]
23 A
FEXIY(5E) XM ~48KEs 1-25 1455 |3~6%F 1545
FEEABE R SRR 1505 |/AR 1555
24 k| R EHEEE) —F — KA
REAE. REGERE 1~6% 14:35
SRR 1445
25 7K
957 FEEO® 1~3% 1455 |4~6%fE 1545
J—ATATT— INR 15:05 INR 15:55
26 x
SERNES (BLERI) 125 1455 |3~6%F 1545
INR 15:05 INR 15:55
27| &
28 +
29 B
20 = 1-3% 1455 |2-4~6% 1545
AR 1505 15555




